T2 OFE BEENITISEHEERICBITAAFREREE#H
205 EEH _ No. 1
= F 5 § I P R —
= 4 3 - 2 |x| BeAR | Feag | CRAR | BEOBER 5 s
% H* (A) (B) B-A[™"
FE EEH H 240 (2) 238 350 1.47 1.34
tEREDE TEF H 240 (2) 238 309 1.30 1.02
LFER @R H 120 (1) 119 118 0.99 1.07
FHa—R H 80 80 75 0.94 0.71
FEM ZERE H 280 (2) 278 300 1.08 1.05
B & H 320 (2) 318 375 1.18 0.97
ZAEEF =EH H 360 (2) 358 448 1.25 1.38
FEZRRES |EEF H 721 (5) 716 814 1.14 1.34
AR5 =& H 360 (2) 358 426 1.19 1.11
ahl =EH H 280 (2) 278 332 1.19 1.26
A iE &R H 200 (2) 198 157 0.79 0.68
SEAN =& E:) 360 (2) 358 499 1.39 1.35
sEFndE =EH H 320 (2) 318 378 1.19 1.21
HME—&F |EEF E:S 400 (3) 397 540 1.36 1. 41
SHANT =& H 400 (3) 397 641 1.61 1.69
SEFIER =EH H 320 (2) 318 407 1.28 1.09
RE ZERE H 360 (3) 357 503 1. 41 1.65
KNeE S @R H 200 (2) 198 278 1.40 0.99
SNEEI—X H 40 40 48 1.20 1.08
REER &R H 240 (2) 238 256 1.08 1.10
REFE =& H 360 (2) 358 429 1.20 1.23
AE e TEFE H 280 (2) 278 286 1.03 1.27
M| & H 200 (1) 199 210 1.06 1.08
&)l =& H 320 (2) 318 364 1.14 1.14
&)l 7 TEFE H 200 (1) 199 215 1.08 1.05
A & H 120 (1) 119 84 0.71 0.75
3=k =& E:) 400 (3) 397 513 1.29 1. 41
EHE&F ZERE E:S 280 (2) 278 300 1.08 1.09
EHER & H 320 (2) 318 425 1.34 1.34
JIlA =@ H 360 (2) 358 445 1.24 1. 41
Jilade TERE #t 400 3) 397 474 1.19 1.46
JI A& & H 280 (2) 278 325 1.17 1.05
JIIOE EEH H 320 (2) 318 358 1.13 1.13
)15 &R ] 360 (2) 358 505 1. 41 1.53
JI# & F =& iz 360 (2) 358 542 1. 51 1.61
MR =EH H 360 (2) 358 409 1.14 1.15
)11 547 FE &R H 240 (2) 238 210 0.88 0.96
)R =& H 360 (2) 358 556 1.55 1.61
b ZEF H 200 (1) 199 179 0.90 1.15
AE &R E:S 280 (2) 278 316 1.14 1.21
A =& E:) 320 (2) 318 378 1.19 1.32
BEALF =EH E:S 320 (2) 318 394 1.24 1.32
EEATE &R H 280 (2) 278 324 1.17 1.22
ES54G =@ H 240 (2) 238 246 1.03 1. 11
JeE =EH H 200 (2) 198 273 1.38 1.25
R a &R E:S 120 (1) 119 102 0.86 0.76
AT B E%ﬁi*i H 320 (2) 318 468 1.47 1.47
CHEABED () ROEFE, BHFITHEIEHRGAFEOEEAETHY .. EEAEBEOAMTH S,

- FRFERESFERO [EER] X, AX. BH, FF. AR—URE,

=i, £ERFE. FRREOFHTH D,




208 BEH _ No.2
F W |2 2 E—— e p—

$# & | 2 - 2 |k| BEAR |Frag| vron | BREEE 5 s

% # (A) (B) BrA|™"

At A 7t 360 (3) 357 438] 1.23 1.30
AT S=#ka Fas 320 (2) 318 305 0.96 | 1.29
AR EEE Fas 280 (2) 278 332 1.19] 1.03
AR Z B # 360 (3) 357 438 1.23 | 1.47
RE =Bk # 120 (D 119 82| 0.69 ] 0.84
AKEI—R Fad 40 40 45| 1.13 ] 1.03
RE EEE Fas 320 (2 318 398 1.25] 1.04
RET =Bk # 360 (2) 358 366 1.02 | 1.24
RILERE EE E Fas 240 (2) 238 235 0.99 1.08
HA i Fa3 280  (2) 278 310 1.12 ] 1.02
EFD =Bk Fas 200 (M) 199 198 0.99 | 0.97
=]5] Emid Fas 160 (1) 159 151] 0.95 1.03
fiasazy—vava—z| & 40 40 32| 0.80] 1.20
EEEE =Bk Fas 40 (D 39 39] 1.00] 0.90
2B S=#GLS Fas 320 (2 318 379 1.19 1.15
E 0 EEE 3 360 (2) 358 486 1.36 | 1.25
EhneE =Bk 3 240 (2) 238 270 1.13 ] 1.09
EWIE S=#LLS 3t 320 (2 318 386/ 1.21 1. 41
E R S=#La Fa 240 (2) 238 355 1.49 ] 1.26
R =Bk FaS 240 (2) 238 231  0.97 1.01
B7EFR S=#LLS 3t 240 (2 238 2411 1.01 1. 06
AR S=#ika Fas 360 (2) 358 491 1.37 1.29
ATRAL S=pGLS FaS 320 (2) 318 527 1.66 | 1.41
AR R R S=#LLE 3t 320 (2 318 344 1.08 1.18
AR S=#ika Fas 320 (2) 318 437 1.37 1.31
= fif] S=#LLS Fas 320 (2) 318 459 1.44 ] 1.39
mtE i 3t 320 (2 318 481 1.51 1.48
1 EE =Bk Fas 200 (2) 198 223] 1.13 ] 1.09
BN R S=$GLS Fas 240 (2) 238 243 1.02 | 1.18
AR S=#LLE 3t 240 (2 238 204 0.86 | 0.89
&y & =Bk Fas 160 (2) 158 192) 1.22| 1.03
&L il Fas 120 (M 119 107) 0.90 | 0.97
PAEE— i Fa3 240 (2) 238 270 1.13 ] 0.9
ERAE =Bk Fas 240 (2) 238 263 1.1 1.08
ERAER il Fas 160 (2) 158 180] 1.14 [ 0.85
AR—Yya—X | # 80 80 47] 0.59 | 0.69
EF= EEE FaS 120 (D 119 132) 1.11 0.95
BHI—R PaS 40 40 42[ 1.05] 0.9
rB @ E FaS 240 (2) 238 229] 0.96 | 1.05
RBE— =Bk Fas 320 (2) 318 372 1.117 1.23
EtR S=#LLS Fas 240 (2 238 249] 1.05 1. 00
A5 L #HE EEE FaS 160 (2) 158 157) 0.99 | 1.08
T B[] =Bk Fas 320 (2) 318 476 1.50 | 1.34
AE S=#LLS Fas 320 (2 318 458 1.44 1. 34
LYNVN =@ 3 120 (2 118 119] 1.01 1.08
BHRESHRI—X| H# 80 80 80| 1.00] 0.98
NIl S=BLLE) 2 280 (2) 218 323 1.16 1.27




SE% EBH _ No.3
= F 5 § I P R —

= 4 3 - 2 |x| BeAR | Feag | CRAR | BEOBER 5 s

% H* (A) (B) B-A[™"

NI a EEH T 320 (2) 318 352 1. 11 1.20
=3 TEF H 240 (2) 238 258 1.08 1.01
=t & H 280 (2) 278 286 1.03 1.07
= =EH H 240 (2) 238 265 1.11 1.12
E32 ZERE H 160 (1) 159 158 0.99 0.97
J\Ef @R H 160 (1) 159 160 1.01 1.17
AKEO2—R H 40 40 39 0.98 1.35
J\EmE &R H 80 (1) 79 94 1.19 0. 81
5% =& H 360 (2) 358 556 1.55 1.37
FH =EH H 200 (2) 198 201 1.02 0.97
FOSE &R H 240 (2) 238 311 1.31 1.66
= =& H 280 (2) 2178 345 1.24 1. 21
R =EH H 320 (2) 318 531 1.67 1.63
O thaz)ila &R H 240 240 374 1.56 1.24
O hiLE[E =& H 120 120 191 1.59 1.52
O mWiL)lli& =EH H 140 140 214 1.53 1.49
O T LEA ZERE H 240 240 410 1. 71 2.03
O WAiLEFIE =& H 320 320 497 1.55 1.38
O i K=Ed EEE H 280 280 363 1.30 1.38
O hii K= EEE H 240 240 279 1.16 1.67
E’E ! =t 29,101 (193) 28, 908 35, 290 1.22 1.24

- OFF. MIIBFFR




25| BPEH _ No. 4
=2 | B AFHA | cpmmgy | e -

2 K £ 3 - 2 |x| BeAR | Feag | CRAR | BEOBER 5 s
% pas (A) (B) B-A[T"

B F¥ I B F !

RAE BRI EE 13 40 40 35] 0.88 [ 0.95
EMEELSR | & 80 (M 79 76] 0.96 | 1.06
ESER TR # 80 80 79 0.99 [ 1.20
EWEERME [ & 80 (M 79 70 _0.89 [ 1.00
FES=I-] W& RE # 0 M 39 A 1.05| 0.95
BIETYA VR [ & 40 40 37| _0.93 [ 0.95
MRRE EWEERME [ & 40 40 62| 1.55 | 0.90
BE=F] e 40 40 2 105 1.13
EEE # G 39 31 _0.79 | 1.18
BREE # 40 40 43 1.08 | 1.20
EERE # 40 40 48 1.20 | 1.08
EMEELSR | & 40 40 46 1.15 | 0.98
BRXEINE [2EFH # 40 40 50 1.25 | 1.20
B RILEE # 40 M 39 38| 0.97 [ 1.03
BHELEE # 40 40 44110 1.10
S E=T54 UF | & 40 40 54| 1.35] 0.93
TEEE E=7 s 40 40 40 1.00 [ 1.30
E2EFH H 40 (M) 39 471 121 [ 0.79
E ¥ 7 =t 840__(6) 834 833] 1.06 ] 1.06




£ HH FREH No. 5

= F 5 § I P R —
= 4 3 - 2 |x| BeAR | Feag | CRAR | BEOBER 5 s
% H* (A) (B) B-A[™"
| T E I B F 3 Z #

TR LE = S H 80 80 712 0.90 0.85
e Et H 80 (1) 79 83 1.05 0.99
BliEATLE | & 40 40 43 1.08 1.15
EEREAMTRL H 40 40 56 1.40 1.13

RKEI%E e E H 80 80 78 0.98 0.91
ESkD H 40 40 37 0.93 0.98
EEFR H 80 (1) 79 104 1.32 1.01
B E H 80 (1) 79 89 1.13 1.04

EHIITE et Ft H 80 (1) 79 82 1.04 1.13
e H 80 80 92 1.15 1.28
BE5E H 80 80 84 1.05 0.99

JIIOITZE A H 80 80 96 1.20 1.04
EBE5E H 80 (1) 79 55 0.70 1.10
EHIBEF H 80 80 89 1. 11 1.10

JIRT % THA F H 40 40 37 0.93 1.33
B H 40 40 57 1.43 1.43
A E H 80 (1) 79 89 1.13 0.97
ERkD H 40 40 47 1.18 1.30
1L Ft H 80 (1) 79 87 1.10 0.82

AETE EBEE H 40 (1) 39 4] 1. 21 1.05
TEFF H 40 40 46 1.15 0.80
et E H 80 80 88 1.10 1.20
BIERSHE H 40 40 42 1.05 0.73
BRI H 40 40 57 1.43 1.05

EEATE BE5E H 40 40 37 0.93 0.93
EEF H 40 40 42 1.05 1.30
T RE H 40 40 44 1.10 1.30
e Et H 80 (1) 79 61 0.77 0.99
EERE TRl H 40 40 39 0.98 1.08

BA B ESHIT B SR H 80 (1) 79 53 0.67 0.78
15 % T H 40 40 62 1.55 1.68

BEBQE et At H 40 40 44 1.10 0.93
EF R H 40 40 45 1.13 0.75

FILTZE e E H 80 80 80 1.00 1.03
EBEE H 80 (1) 79 47 0.59 1.03
EF R H 80 80 75 0.94 1.15

EIEEE BRUVATLE | & 40 (1) 39 42 1.08 0.77
EHRA T« 7% | H 40 40 42 1.05 1.15
£ YF H 40 40 54 1.35 0.73

HBREIRE |BRVATLE | £ 40 (1) 39 37 0.95 0.82
BHOATLE | & 40 40 43 1.08 1.05

HEMEHEM |EFHEmRE H 40 (1) 39 29 0.74 0.72
EERBL M E H 40 40 11 1.03 1.08
THA F H 40 40 41 1.03 1.18

ST ERIMT |BERE H 80 80 66 0.83 1.05
B E H 40 40 36 0.90 1.03
| EXE H 40 (1) 39 38 0.97 1.10
15 % T 3t 40 40 33 0.83 1.28
EHREFE H 40 40 45 13 0.90

T * 7l =t 2,760 (15H) 2. 745 2,833 .03 1.04




£ HH FREH No. 6

= F 5 § I P R —

= 4 3 - 2 |x| BeAR | Feag | CRAR | BEOBER 5 s

% H* (A) (B) B-A[™"
5 = T ) ZF

FE EEZS! H 120 120 152 1.27 1.68
=% BEER H 120 (1) 119 128 1.08 0.87
(FERANIEF] H 80 80 79 0.99 1.03
SHAIEZE [EEZE! H 200 (2) 198 220 1.11 1.04
&AL IEF] H 80 80 112 1.40 1.34
ANEEE EER H 240 (1) 239 215 0.90 1.05
FEEATSE 3 EER H 160 (1) 159 151 0.95 1.21
&R IR T H 80 80 85 1.06 0.65
JeE EER H 80 80 85 1.06 1.03
BABEEM mERER H 40 40 31 0.78 1.03
[EERALIEF H 40 40 32 0.80 0.93
EILERFE B ER H 80 (1) 79 85 1.08 0.95
=EE H 80 80 97 1.21 0.93
[EERALIEF H 80 80 95 1.19 0.99
FRNGE 3 [EERAUIEF H 80 80 74 0.93 1.21
EFRiaEE H 80 80 79 0.99 1.14
EYE R E:S 80 (1) 79 84 1.06 0.94
ELEEM [MEEDRAR [ & 80 (1) 79 48 0.61 0.76
JE 4 B EERNIEF H 80 80 104 1.30 1.18
JELL R EER H 40 40 39 0.98 0.93
PIEFEE [EEZE! H 40 40 33 0.83 0.58
EDRARESEHE [ & 40 40 19 0.48 0.40
(FERNIEF] H 40 40 35 0.88 0.80
ERTEE [EEZE! H 160 (2) 158 202 1.28 0.89
=it F H 40 40 35 0.88 1.20
(FERNIEF] H 80 80 85 1.06 1.00
55 [HEER #t 120 (1) 119 41 0.34 0.30
I\ EER H 80 80 92 1.15 1.19
(FERNIEF] H 80 80 87 1.09 0.93
O Thazlll#k E R E R B 70 70 143 2.04 1.54
[EIRAIEE H 70 70 128 1.83 .34
EEES =t 2,740 (1) 2,729 2. 895 1.06 .02

- ORI, MILBFFR



285 BEFY _ No. 7
£33 B | B EET e —
= g & 3 - 2 |x| BeAR | Feag | CRAR | BEOBER 5 s
% 3t (A) (B) B-A[™"
| X E - B 3 3 Z
BELTTF [ E=8 40 40 62 1.55 1.20
REEFE z 40 40 48 1.20 1.45
BABEHEHM |RMTHAUH [ & 40 40 41 1.03 0.83
BYERER H 40 (1) 39 37 0.95 1.25
BREIRZE |S42T7H1 UF | H 40 40 37 0.93 1.08
J—RKTHA4 8| & 40 40 43 1.08 0.98
HEBEEMN |RfTHAUF [ H# 40 40 33 0.83 0.93
| [EYEEH H# 40 40 491 1.23 30
ER ]3_2 £l it 320 (1) 319 350 1.10 .13
%[ T 2 = 7
| BhE ER E:3 30 30 3/ 05 29
= Z 7 =T 30 30 84T 105 29
I S Y - !
EHEE T S EEEFR z 40 40 73 1.83 1.28
N NEEEF H 40 40 41 1.03 1.08
RE NEEEF H 40 40 53 1.33 1.58
=WiiE] S EEEFR H 40 40 52 1.30 1.53
Bl NEEEF H 40 40 77 1.93 1.70
T ENE S EEEF H 40 40 61 1.53 1.63
I ERE S EEEF H 80 (1) 79 120 1.52 1.95
i SNEZEE H 40 40 68 .70 .93
51 E E H 5 360 (1) 359 545 Y .62
[ =  f§ - Bl 4 & ¥ Fi
= 6 e It 40 40 64 1.60 1.10
A EfTE H 40 40 53 1.33 1.05
=i s EME H 40 40 44 .10 .20
B 120 120 161] 1.34] 1.12
5 = - B 3 z = 3
= It EEZE! H 40 40 45 1.13 1.03
=iieE HEE H 40 40 33 0.83 0.85
NN HEE H 40 40 48 .20 0.95
E X H it 120 120 126 _1.05] 0.904
= ® T B3 % = 3
[ XEXE  [=Bf IR 40 40 42 1.05 05
= & 7l = 40 40 22] 1.05 05
& B = B 3 % = £l
PNCE EEES! H 80 80 106 1.33 1.20
S ULHEF ZR—yy 4 TURE| H 80 80 99 .24 .14
% & FI =T 160 760 205]_1.28 17




£H% HMYH _ No.8
= ® | B T e _
$# & | 2 - 2 |k| BEAR |Frag| vron | BREEE 5 s
% # (A) (B) B-A|™"
B % - B 3 35 =F 7
Xz [EEE S 20 20 T04] _2.60 | 2.80
AT BT £ 40 40 58] 1.45 | 1.55
BAI BHE £ 40 40 70]_1.75 | 1.58
iR e £ 40 40 80| _2.00 | 2.58
faL B F 3 40 40 71| 1.78 | 2.28
O muki=dl |EHE # 10 40 94 235 | 2.45
_ # B F it 240 240 771,99 ] 2 20
15 Iz ¥ % ¥ #
_aieil ST E:: 80 30 64 0.80 [ 0.70
B i T 5t 80 80 64]_0.80 ] 0.70
A X I I % _F ¥
BN [AEL E:: 20 20 601 1.50 | 1.28
N ! it 40 20 60]__1.50 | 128
LB 3 % =¥ %
E: 10 40 63 1.568 | 1.40
st 20 40 63] 158 ] 140
L B 4 % Z 7
3 10 40 26l _1.15 2
3 20 20 6] 115 2
L B 3 % =Z &
E: 40 40 44 _10 .39
: 20 20 44 110 ] 135
= B3 %
E:: 120 (1 119 T24] 1.04] 1.0
£ 120 (1) 119 126] 1,06 | 1.18
it 240___(2) 238 250] 106 ] 112
=T ¥ # [ 8260 (36)] 8_224] 9.128] 111 ] 111 ] ]

- ORI, MIIBFFR



2EE BEFH _ _ No.9
3"— ﬂ' % /-\?—?FEI -+ 2 INr 2z —

= % & 3 -2 |&| BEAR | Feag | CRAR | BEBER 5 o

% H* (A) (B) B—A[™"

INEF BEFH E:3 120 (1) 119 721 0.61 ] 0.69
MRS BEZEH 3t 240 (1) 239 319] 1.33 ] 1.04
AE1E BEZEH T 320 (2 318 368 1.16 | 1.17
EFH BEZEFR 3t 240 (1) 239 235 0.98 | 0.88
HEIELE BEZEH 3t 160 (1) 159 156] 0.98 | 1.15
SFNfEAL BEZEH T 120 (1) 119 96/ 0.81 | 1.11
EIBRE wa2E 3t 280 (2 278 326] 1.17 | 1.28
=IER BEZEH 3t 120 (1) 119 133] 1.12 | 1.05
FEHI BEZEH T 240 (1) 239 229] 0.96 | 1.01
O ma)lOiE [KEesd 3t 160 160 261] _1.63 | 1.64
B & F 1 =t 2.000 (11 1,989 2.195] 1.10 | 1. 11
[ £B% &8 5 -Ka%H ST 39,361 _(240)] 39_121] 46,613 1.19 | 1.20

- OHE. MIIEFFER




ERFH] E@EE No.1 O

£ B |8 AFHA | cprmn . _

= % & 3 -2 |&| BEAR | Feag | CRAR | BEBER 5 o

% H* (A) (B) B—A[™"

rE R 3 40 40 18] 0.45 | 0.48
i B # 80 80 20 0.25 | 0.19
g EBE ] 40 40 5/ 0.13 | 0.13
SEME—XF [EEFR & 40 40 7] 0.18 | 0.18
AEEE B H 40 40 3 0.08 ] 0.10
A=ff EBE #t 80 80 51 0.64 | 0.73
NI T BE E 40 40 8| 0.20 ] 0.18
=K B 3 80 80 51 0.64 | 0.69
NI TE EBE T 40 40 13 0.33] 0.43
A= TEE E 40 40 6| 0.15 | 0.20
BEA EEE H 40 40 8] 0.20 | 0.13
RS EBE T 80 80 36] 0.45 | 0.60
MREIRYE [E&F E 40 40 2] 0.05 | 0.10
AR B H 40 40 17| 0.43 ] 0.53
T BRREEEE $t 120 (40) 80 44] 0.55 | 0.65
RELREE s 40 40 7] 0.18 | 0.18
tRae B 3 40 40 71 0.18 | 0.25
AFE EBE H# 40 40 14 0.35 | 0.35
O hyEE TEE 3t 80 80 34 0.43 | 0.45
T B =t 1040 (40) 1000 351] 0.35 | 0.39

RG] BFSR _ No. 1 1

= FI ) AZEFTE

== * o 2z =

= g £ 2 - 2 |&| BEAR | peag | TRAR | BEOBER 5 o

e H* (A) (B) B=A
| T F I B F 3 F F
KELEx | LEEME 3 80 30 16] 0.20 [ 0.15
NOTE TERE 3 80 80 4 0.18 | 0.15
JIFRT TERIE H 80 80 9] _0.11] 0.14
T E 7 = 240 240 39] 016 015
- Kl ) 2 £l

rXEEE BEZE 3 40 40 2 0.05 ] 0.23
(O HT B EEE H# 40 40 4 0.10] 0.13
ECEEIE? = 30 30 6] 0.08 [ 0.18

- OHE. MIIEFFER

2—10



EEf BEFHE — —= = No. 1 2
SIS 2 % )\%E EI =+ % I 5% =
= % & 3 -2 |&| BEAR | Feag | CRAR | BEBER 5 o
% H* (A) (B) B—A[™"
LAY I &8 23 160 (4 156 191] 1.22 ] 1.09
I 2% 3t 80 (2 78 33 0.42| 0.13
S I g $t 80 (2 78 921 1.18 | 1.46
& 3t 80 (2 78 125] 1.60 | 1.31
I 2% 3t 80 (2 78 55| 0.71 | 0. 71
W _EFREx I 2% T 144 144 156] 1.08 | 1.01
I &1 E 72 72 11 0.01 | 0.01
EES: i 3t 80 (2 78 154 1.97 | 0.90
I &R 3+ 80 (2) 78 29| 0.37 | 0.36
w5 ZF 7 =f 856 (16) 340 836] 1.00 [ 0.83
[ EEf Ea - oM maTh [t 2,216 _(56)] 2 160] 1.232] 0.5/ ] 0.53 ] |
- EEHORRCATAIRINEECOLCIE. 2H20HF COLBEBZEHOARE LT LS,
[ 2E% - caslofhkat [EF] 41.577 (296)] 41, 281] 47.845]  1.16 ] 1.17 ] |

2—11



